
Let’s prove lim
n→∞

gn(y0) = g(y0).
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by the Cauchy-Schwarz inequality.
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Let ε > 0 be fixed. There is an α > 0 such that g(y0 − α), g(y0 + α), g(y0 +
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for all n > N and y ∈ {y0 − α, y0 + α, y0 + 2α}.
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For any ε > 0 there exists an integer N such that |gn(y0)− g(y0)| < ε for all

n > N so lim
n→∞

gn(y0) = g(y0).


